1. EXiEHE

B (it ——str.format()

format PR MR ANRANZHL, AL E W] AL -
>>>"{} {}".format("hello", "world") # ARBEREME, TBINGFF
'hello world'
>>>"{0} {1}".format("hello", "world") # WEREMNE
'hello world'

>>> "1} {0} {1}".format("hello", "world") # WEREMNE

'world hello world'
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>>> print("PE4:  {name} FFi#S: {age}".format(name="yee',age='26"))
W yee, Sk 26

>>># B FREESH

>>> info= {"name": "yee", "age": "26"}

>>> print("E4:  {name}, “Fid: {age}".format(**info))
W yee, Wk 26

>>># A FIREINRESH

>>> |st=["yee',26]

>>> print("#E4Z: {0[0]},4EH#E:  {O[1]}".format(Ist))# 0 R LA, TARB—ISH
W4 yee, Fikk: 26
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>>>"{: d}" .format(123456789)
'123,456,789'

>>>"{: 2f}" format(12345.6789)
'12,345.68'



